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5.

F3R Frert W dqfera sl & wwE @
I ATRATERT ST} % i a1 e
HE S ?

(1) iRt femm

s & fon d =a ® @ W& o feer
T 120 kKN & 100 kN &, T4 &
YT G WY I Wed @ | THER %

W?LWTI'ET (speed)ﬁ‘ﬁ
(1) 3.8m/s (2) 39m/s
(3) 4.0m/s 4) 4.1 m/s

% SR e as1 60 kN 8, 2500 N
&1 HYT HE (Tractive effort) A A
w8 | gfe wiu gfelig (Tractive
resistance) 6 N 9fti kN %R & I5H &
SO @, d GAad Gdg W R

(acceleration) BT
(1) 0.25 m/s? (2) 0.35 m/s?
(3) 0.45 m/s? 4) 0.55 m/s?

T dgh g 120 TH FAAE H Th
et 400 m/s & a7 (Velocity) ¥ Th 10
et goa % W&y W gl 18 | g
A& i 2R % ol e B, at viest
ot 6 & (loss of kinetic energy)
Bnft e

(1) 9.5kNm (2) 4.75kNm
(3) 19 kNm 4 0
T forg WA @ T Sl H1 JAfRrha

TqUT gAaq qROTHT SHAST:
20N 2 | ¥l & qiEmor g
(1) 60N,20N  (2) 50N,30N
(3) 100N,60N (4) 60N, 100N

80 N a1

The Science which deals with
condition of equilibrium of rigid

bodies acted upon balanced system of

forces

(1) Mechanics

(2) Dynamics

(3) Thermodynamics
(4) Statics

Two railway engines weighing 120
kN and 100 kN moving in the same
direction collide and subsequently
move together. The common speed
after the impact would be

(1) 3.8m/s (2) 3.9m/s

(3) 4.0m/s 4) 4.1m/s

A car weighing 60 kN is capable of
exerting a tractive effort of 2500 N. If
the tractive resistance is 6 N per kN of
the car’s weight, the acceleration on a
level track will be :

(1) 0.25 m/s?
() 0.45 n/s?

) 0.35 m/s?
(4) 0.55 m/s?

A bullet of mass 120 grams is fired
into a térget of mass 10 kg with
velocity 400 m/s. If the target is free to
move, the loss of kinetic energy would

be approximately
(1) 9.5kNm (2) 4.75 kNm
(3) 19kNm 4 0

The maximum and minimum resultant
of two forces acting at a point are 80 N
and 20 N respectively. What will be
their magnitudes ?
(1) 60N,20N
(3) 100N, 60N

(2) 50N,30N
(4) 60N, 100N
11
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6. T& 9@ Tk 100 Hex I 9K & &
o 7 8, 9 2 et AB = 100 ftex T
AC = 150 Hiex grr gl femmi W 2
aTEA gRT 39 TR T o W ? fh g
Teg fopTRl < TAMIR & Jerdt & | 3
AB W && 1500 N 8, @ AC W &M
A F ‘F’ BT | 714 . |

1500 N
1%/'

10041

(1) 2100 N
(3) 2200N

) 2150N
@) 2250N

7. i f % R o gw fivg amw
(free body diagram) g

R
(1) @R @) @
W W
T
3) R (4) AT
GR
W

11

[ 6.

VU ——

A boat is in the middle of a canal 100 m
wide,
AB =100 m and AC = 150 m long by

two vehicles on the banks in such a

and is pulled by 2 ropes

way that the boat moves parallel to the
banks. If the pull along AB = 1500 N,
find the pull ‘F’ along AC.

B/ISOCIN

. 100jm

(1) 2100N
(3) 2200N

(2). 2150 N

(4) 2250N

7.  The correct free body diagram for the

figure will be

R
(D R ()
W w
T
3 R 4 AT
R
w



8.

10.

11.

12.

fpet fo=g (point) W1 THE RES
(elevation) 313%%@ (plan) R
X-Yimssm s | T fage -

(1) 9y agufa A

@) ficfar=agatad

(3) i wgata A

(4) =g wrqutw A

e Y89 (isometric projection)

F IR T B g1 Ao qE TE R 2

(1) aft Y@l & fives W T @,
GG @i STt & |

@) fve w et (Vertical) {@md
SRS g |

3) fivs W &f (Horizontal) W@
AR & 30° oy R i AT B |

@) fvs W &faw (Horizontal) @M
S & 45° o R 9h 2 |

= & @ # Y, Imm @ dv
W I H A R 2

(1) TR @

(2) e vaett @

(3) = guH Yot @i

(@) B 3 foredt waett Tan

g (ellipse) H Ichsal
(eccentricity) Bt &
(1) 1859
(3) 13 fes

qetTeHs "™ (Comparative scales) ;|

(1) @9 RF. Ba1 8 Wg = am&es
(units) I A & |

() Br= RF. 8r1 8 Wg @9 A
(units) 9¢ WA & |

(3) @wH R.F. BT & qUT €9 A
(units) 9¢ 914 & |

(4) = RF. g1 g @ fr=1 A
(units) 9 JA |

(2) 1% SR
(4) 0% s

F -3

8.

10.

11.

12.

Both elevation and plan of a point lie
above X-Y line. The point is in

1 ﬁrst quadrant

(2) second quadrant

(3) third quadrant

(4) fourth quadrant

Which is not true in case of isometric

projection ?

(1) All lines that are parallel on the

- object are drawn parallel.

(2) Vertical lines on the object are
drawn vertical.

(3) Horizontal lines on the object are
drawn at an angle of 30° with the
horizontal.

(4) Horizontal lines on the object are
drawn at an angle of 45° with the
horizontal.

The following is used for dimension
line :

(1) continuous thick

(2) continuous thin

(3) chain thin line

(4) short zigzag thin

The eccentricity of an ellipse is
(1) less than 1 (2) equaltol
(3) greaterthan1 (4) equalto0

Comparative scales have
(D
2
©))
4

same R.F. but read different units
different R.F. but read same units
same R.F. and read same units

different R.F. and read different

units

11



13.

14.

1S.

11

@

T T 19 S (right circular cone)
1 T W THAe (plane) ERT BT STl
2 Rt &foT Tt (Horizontal plane)
° Hy WS h SR HIT (base angle) &
aﬁm%asﬁm@%sﬁé (vertex) ¥
FETS ST 8 | S99 9Tt 956 (section)
T RIS HTHR B '

(1) ddga 2) TaeE

@) orfaweer  (4) fyw

Tl ST 311 G2 (right side view) &

() /

)

“) /

Ife 3 et 15 Wf gro ol 9 € @)

w6 f (representative fraction) g
M s @ 3

;-
(3) 20,000 @ 3000

14.

15.

A right circular cone is cut by a plane
inclined to horizontal plane at an angle
greater than the base angle of the cone,
and passes through the vertex. The true
shape of the resulting section is

(1) ellipse (2) parabola

(3) hyperbola (4) triangle

Correct right side view is

(D /

)

©)

@ /

If 15 cm represent 3 km, the
representative fraction is

M s @ 3

1

3) 20,000 4
(3) 20, ) 20,000




16.

17.

18.

19.

20.

First Angle Projection (S¥H SHIvT TETOT)
fafy ¥, g H woen e Es
(quadrant) ¥ Y Tt @ 2

(1) JTHES

@) ffmds

3) TaEs

(4) HUTES

s 6 Rt ¥ wr Tl fe
yfrerd @t 8 2
(1) 50-—60%
(3) 10-20%

@) 30-40%
@) 0-5%

5 3dffier a6 W & fow R R

TS e, AR RE BT A 1:4 8 ?
(1) 10cm 2) 125cm
3) 15cm (4) 17.5cm

o et g H1 BRI T b
AR F T A, A AT Flan 8

(1) ferepot dmr
(2) oT 3R JAET

(3) affer qurn

@) T A HIE T

@ fige #1 faguY (locus), ISGED
fpeht Ffeaa foig @ ot foreft TR T
2 e gl o S a8, BT e

(1) Waed

(2) StfaEad

3) 99

(4) Geia

(-]

16.

17.

18.

19.

20.

In first angle projection method, the

object is assumed to be placed in
(1) first quadrant

(2) second quadrant

(3) third quadrant

(4) fourth quadrant

After
percentage of moisture is

1) 50-60%  (2) 30-40%
3) 10-20% (4 0-5%

seasoning of wood, the

What will be length of scale to
measure upto 5 decimetres ? RF is 1:4

(1) 10cm 2) 125cm
3) 15cm 4) 17.5cm

When the drawing is drawn of the
same size as that of the object, the
scale used is

(1) diagonal scale
(2) full size scale
(3) Vernier scale

(4) None of these

The locus of a point which moves such
that its distance from a fixed point
always remains the same as its
perpendicular distance from a fixed
line is
(1) Parabola
(2) Hyperbola
(3) Circle
(4) Ellipse

11



21.

22,

23.

24.

25.

26.

11

el % HATRE 918 5 @
(1) got 3R I T
(2) = 3R TR W
(3) =9 IR W

(4) T A IS T

Srefge % foTe Sehegan Bt 2

(1) THAHA

() Y

(3) TH F TR

“4) =

fove @ g % IER ATERE
&= 1 S < SAfreran o 2

(1) 50dB (2) 60dB
(3) 70dB (4) 80dB

forelt 3o & fafi= =t ok el &
st Hueh, TR ! w1 AW fegr e ® 2
(1) e (2) QHTEAT
(3) =R (4) wSTeran

TATEGS (qEeR Ahel) h i €t W @l
IV (FYSA) FHET AR 2

(1) 938 TR (TH T I 7%)

(2) S WA

(3) Tr=eh wa

(4) T 9T

JTgEHifeeh Y8 § S Qa2

(1) 3mzmfifes dumn

(2) arfees YumT

(3) arfifts Sumr 3k arafas
Burr 2t |

@) T @ omgamifes Ymmr o &
rEfares Jur

| 26.

21.

22.

23.

24,

25.

Drawings of buildings are drawn using
(1) full size scale

(2) reducing scale

(3) scale of chords

(4) None of these

What is the value of eccentricity for
ellipse ?

(1) less than one

(2) greater than one

(3) equal to one

(4) zero

According  to World Health
Organisation, the permissible value of
noise level in residential area is

(1) 50dB (2) 60dB

(3) 70dB (4) 80dB

The term used to mean the link or
access or movement between various
rooms and floors of buildings.

(1) Flexibility (2) Prospect

(3) Circulation (4) Elegance
Which layer is called “core” in
plywood ?

(1) Side layer

(2) Top layer

(3) Bottom layer

(4) Middle layer

In isometric projection scale used is

(1) isometric scale

(2) true scale

(3) both isometric scale and true scale
(4) neither isometric scale nor true

scale



27,

28.

29.

30.

31.

fr=fiRag ® S 91 ohe! Hl Gag |

aiffar (varnish) F 1 HREE TE @ ?

(1) g ! st (Binding) gl <l
& o Heg 8 |

(2) YEA TR (Hairline crack) T A
e T & |

(3) HIWAT (Softness) SEH FHaT & |

' (4) w3 (Hardness) S 1 8 |

& FE AU | 10 mm T F S
iR Tt B I 2 1 0.12 mm H
ST 3 3 Fore <Igh <t TTeE I BN 2

(1) 10.12mm  (2) 6.12mm
(3) 5.12mm (4) 4.12mm

T A Y H FSENH 15 8

(1) AU H i TSH BT |

(2) 3SR & g |

(3) <awerss i fesfém o wgrman T |

(4) X { O faisar sl Sec auT B 41
Frer <t Tt & Yok set IR & |

% AY F WA F AN N @ T [
5 25 Hier/firre 6t Hdd T ¢ STETh
oe %1 oara 32 firft 8t |
(1) 1503k wid firre
(2) 250k wid fime
(3) 350 =%k wfa fire
(4) 4506 v fire

TR (ATt) Sehet Y Turaar few W
ok i et 2 ?

(1) ¥hisiga W

@) s sTEw

(3) S H B W

(4) 3 F UMY (IHR) W

| 27.

i
!

28.

29.

30.

31.

Which of these is not an advantage of
varnishing wooden surfaces ?

(1) Helps in protecting the wood by
binding the surface

2
3)
)

Helps in preventing hairline cracks
Provides softness
Provides hardness

An external square thread of 10 mm
pitch is to be cut on a centre lathe.
What will be depth of thread to give
0.12 mm clearance ?

(1) 10.12 mm (2) 6.12mm

(3) 5.12mm 4) 4.12 mm

What is function of headstock in

centre lathe ?

(1) to provide foundation of lathe

(2) to hold the tool

(3) to aid in fitting the top slide

(4) to transmit motive force from the
motor to the main spindle, by
means of belts & pulleys or gear

At what rpm should a lathe be run to
give a cutting speed of 25 m/min, when
turning a rod of diameter 32 mm ?

(1) 150 rpm

(2) 250 rpm

(3) 350 rpm

(4) 450 rpm

The quality of timber does not depend
upon '

(1) maturity of tree

(2) time of felling

(3) type of tree

(4) size of tree _
11
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32.

33.

34.

35.

36.

11

apdl & s # = d @ o9 @ H

IFAR?

(1) BHhar &t sig, I BIe AT b
B |

() %0 o arft dxar =t &1 =

et aitese & T B R |
(3) et fr areft 3|t st 1 =T
e ufede & fo grar 2 |
@) sfiEEg |
Tag <ie forgehl o+t Bt 8 2
() wgffam (2) @
(3) Fg T (4) el Srel
FRU | AieiEs 7191 1 394 8
(1) =9 G
(2) |HHIVT FMT
(3) QR @ i
(4) I FHET
frm § @ SR 7 S 91 IR WK
TR ?
(1) #ate
(2) U
(3) 3hia o g
(4) wiftT argE
IfceT o 217k Siees fhaT BlaT ® 2
(1) 18—40dice
(2) 40-954dkee

(3) 100 -1254kee
(4) 130-—170 <

!
i
]
i

i 32.

33.

34.

35.

36.

Which statement
Hacksaw ?

(1) The blade of hacksaw is made up
of high carbon steel.

(2) Hacksaw blades with small pitch
are used for thin sections.

is wrong about

(3) Hacksaw blades with large pitch
are used for thick sections.

(4) All of these are correct.

Surface plate is made of
(2) Copper
(4) Cast Iron

(1) Aluminium
(3) Mild Steel

Mortise gauge in carpentry is used to

- (1) draw arcs

(2) draw right angles
(3) draw two parallel lines
(4) mark angle

Which out of following is not a
striking tool in carpentry ?

(1) Mallet
(2) Claw hammer"
(3) Cross peen hammer

(4) Clamping vice

Arc voltage in welding is
(1) 18 —40 volts

(2) 40-95 volts

(3) 100-—125 volts

(4) 130-170 volts



37.

38.

39.

40.

41.

Hed) @ge it ¢ %1 frefefaa 9 |
I | 3R 8 2

(1) Tafam sz

(2) i 3w

(3) TR sex 3tk sifzin Susmor Gt
(4) T A IS T
Frforfaa & @ ol @ it oo § T=@
Fiftrep T WA R 2

(1) Tt (firgh & wwam)

(2) e fageg

(3) TR E

(4) e 7o e

g e W arg § 9T S0 1 fo=ma
AR 7

(1) T swifoeht amomm

(2) GA:¥UMUA (recrystallization) dT9H
(3) 3= shifaeh! ATaHM

4) !@ﬁ“ﬁ? (TTAshIfaeh ) ATIHT

b afeen fafyr #, arg 3k sos &
st fooieft <t ot f=r d @ fvm g
I BT 8 2

(1) aees -

(2) Tomreft & varg

(3) U gfera

@) ofiedtd |

g 3k Reaeat o1 ST Haf BT R 2
(1) 8 e o Y areht & off Iaareq
1 gfar ygH At g |

(2) w=fifm @ qd wfsrnstt & &0 ot 2
Y, IFHA BT, HYAT, ANf=TE

Jfg |
3) ggmméaﬁﬂwﬁmm
|

@) whade |

10

38.

39.

40.

41.

Which of the following is example of
multi point cutting tool ?

(1) Milling cutter

(2) Broaching tool

(3) Both milling cutter and broaching
tool

(4) None of these

Which of the following cutting tool
has highest hot hardness ?

(1) Ceramics

(2) Cast alloys

(3) High speed steels

(4) Carbon tool steel

The temperature at which new grains
are formed in the metal is called

(1) Lower critical temperature

(2) Recrystallization temperature

(3) Upper critical temperature

(4) Eutectic temperature

In arc welding, the electric arc is
produced between the work and the
electrode by

(1) voltage

(2) flow of current

(3) contact resistance

(4) all of these

The use of jigs and fixtures
(1) facilitates deployment of less
skilled labour for production

(2) eliminates pre-machining

operations like marking,
measuring, laying out etc.
(3) reduced manual handling

operations
(4) All of these

11



42,

43.

44,

45.

46.

47.

11

Tegfifem i diesfin % o diest

frawmH T ST 2

(1) fa-s=

) -~

(3) wis — e

4) T —fyex

I A1 g HF & Har g 2

(1) o= 2) wisa

(3) e @ @
Tg-3IUTE Hd I A i M58 HA
ST 3T greit iR 8

1) (2) MEEER
(3) fom (4) Trae=r
S 139 % wiad 7 [T T B 2 ?
(1) fi-sigw

(2) T IS

(3) T dgw

(4) W ggE
IS AT 6T goT AT 3

(1) =gl wiH

) Tegfim wim

(3) Iidterim wy

(4) w T

T ¥ B @ (lathe) T T THR
&R ?

(1) s (2) efest

(3) @ 4) T

| 42.

11

43.

44.

45.

46.

47.

Which is used as solder for soldering
aluminium ?

(1) Tin-Lead
(2) Tin-Zinc
(3) Lead - Silver
(4) Tin - Silver

Which tool does not cut ?
(1) Punch (2) File
(3) Hacksaw (4) Chisel

In mass production, the device used to

guide the tool is
(1) Gauge (2) Guide bar
3) Jig (4) Fixture

Box nut of the bench vice is made of

(1) V-threads

(2) Square threads

(3) Acme threads
(4) Buttress threads

Carburizing flame is also known as
(1) Neutral flame

(2) Reducing flame

(3) Oxidizing flame

(4) Clean flame

Which is not a type of lathe machine ?
(2) Horizontal
(4) Gap

(1) Engine
(3) Turret



48.

49.

50.

S1.

= O fFY Wi Hiet & atg wa | Tt
A ?

(1) e gamE €. mex

(2) @ gamE gLt wet
(3) for g .dt. Aiex
(4) T g LA, A

T ¥ BN AEEEd Hgh ad A
Ao (lubricating oil additive) & & ?

(1) fesie 9 feamae wie
(2) T g GUTh
(3) R UIgR GUTh

4) wm faeft wre

qeHhd Gealied Yo Jomet (forced
circulation cooling system) 4 o @
Yiterer g9 w8 form Srar @ 2

(1) FhRIcHS foreUTa HegIdieh ud
(2) TR-GHIeTh e SHsuares 99
(3) HHRIHS TR Tt 9

(4) R-GehRTesh oo FeamTit gy

w d @H @ ah amdn w
JATEHIETEA (automobiles) ® 3T et
27

1. de-thrs el

2. Trwer-3maE ko aeb

3. fra-Feiimm o aeb

4. aRftam-ufe Skt
TE IW 3

1) 192 () 193
3) 293 ) 394

12

48.

49.

50.

51.

Which of these is not used as a starter
motor ?

(1) Shunt wound DC motor
(2) Series wound DC motor
(3) Electrostatic DC motor

(4) Permanent magnet DC motor

Which of these is not an additive in
automotive lubricating oil ?

(1) Detergents and dispersant agents
(2) Flash point improver
(3) Pour point improver

(4) Anti foam agents

The coolant pump used in a forced
circulation cooling system is

(1) positive displacement centrifugal
pump

(2) non-  positive  displacement
centrifugal pump

(3) positive displacement
reciprocating pump

(4) non-positive displacement
reciprocating pump

Which type of batteries are generally

used in automobiles ?

1. lead-acid battery

2. Nickel-iron alkaline battery

3. Nickel-cadmium alkaline battery
4, Titanium acid battery |

The correct answer is

(2) 1and3

(4) 3and4

(1) 1and2
(3) 2and3

11
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émﬁasq%am,mq%ﬂ‘@ﬁ
TR ?

(1) 1500°C (2) 1700 °C
(3) 2700 °C (4) 3700 °C

& wige 6t 7fy, Theh wive Y o A
Bt 8

(1) &\ M ) It

3 grh 4) 1'%Tm
= 3iftehan < auT 9 % fore fg
=3k Y QAT T Bt 2

(1) fevmi

2 s

(3) 3

4) wfad wEle

ra # T 7 @ o ff r b s
FIH Bt & 2

(1) T ek

(2) ol deh

3) Treat amra S

4) T Fsfirm Seh

fe- e (Goveror) fra wm 1T ® ?

a. SI 399 i ffesa 7fd (dling
Speed) I FRIBA A F |

b. Clom €t ffsrr nfy = ffia
FAH |

c. SIsH &t fmepan o9 nfy =
Hift@ s+ |

d. CI$H $ ftresan so9 7ifa =t
HfaHE > |

'H?-ffﬁ'(%:
1) a ) b
(3) ad¥c @) bud
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52.

53.

54.

55.

S56.

During combustion in the engine,
temperature in the cylinder raises up to
(1) 1500 °C (2) 1700°C
(3) 2700 °C (4) 3700 °C

The speed of cam shaft is times
speed of crank shaft.

(1) equal

(2) half

(3) double

(4) 1.5 (one and half times)

For same maximum pressure and
temperature, which cycle has highest
efficiency ?

(1) Diesel

(2) Dual

(3) Otto

(4) Reversed Carnot

The car batteries generally used in
India are of type

(1) Dry battery

(2) Lead-acid battery

(3) Nickel-iron battery

(4) Nickel-cadmium battery

Governor is used to

a. control engine idling speed in SI
engines.

b. control engine idling speed in CI
engines. '

c. limit maximum engine speed in SI

engines.

d. limit maximum engine speed in
CI engines.

Correct answer is :

(1) onlya (2) onlyb

(3) a&c 4) b&d



57.

58.

59.

60.

61.

62.

T ¥ I aUER (Heat Treatment)

a

b. A

v HY HS T

d. arsfie

Tt IR

(1) a,bdc (2) b,cad
3) a,cdd (4) a,bdad
FRE A (SAal orgr) | hed qEn
e fehan wftrera gt 2 2

(1) 0.2% () 0.8%
(3) 1.3% 4 2%
TSt 1T 1 TS 8

(1) 60% TTET qUT 40% &
(2) 60% & aUT 40% e
(3) 70% STET TUT 30% e
(4) 30% STET qAT 70% <re

fr= 4 @ fopm g Y oRea w1 v
hid o (fec) B 2
(1) e
3) Tt

TSl TIET sheb Y9E T8 T HIRIHT
g

(2) seifEm
(4) S

Th 200 Ah hi St =) =1 & fog
31eyl &9 @ forat am =nfau 2
(1) 10A 2 12A
3) 15A 4) 20A
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57.

S8.

59.

60.

61.

Which of these are heat treatment
process ?

a. quenching
b. annealing
¢. case hardening

d. vapourizing

Correct answer is
(1) a,bandc
(3) a,candd

(2) b,candd
(4) a,bandd

Cast iron is characterised by minimum
of following percentage of carbon :

(1) 0.2% ) 0.8%
3) 1.3% @) 2%

Muntz metal has composition
(1) 60% copper and 40% zinc
(2) 60% zinc and 40% copper
(3) 70% zinc and 30% copper
(4) 30% zinc and 70% copper

Which metal out of following has Face
Centered — Cubic (fcc) structure ?

(1) Iron (2) Chromium
(3) Nickel (4) Zinc

Cast steel crankshaft surface is
hardened by

(1) Induction heating
(2) Normalising

(3) Nitriding

(4) Carburising

What will be charging current for 200

Ah battery ideally ?
(1) 10A 2) 12A
3) 15A 4) 20A

11
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64.

65.

66.

67.

11

e (3wmd) & fefeiad gewt § @
B W UH GEH T N TEY W
TSl I B 2
(1) FeT$E
(3) W

(2) TEe
(4) Femmre

soa # few g il w@ @
Seft gferier sreen @ 2

(1) whifeEm

(2) TifeteeT™

(3) TmA

4) Hfezm

et B o gl g 8 2
(1) wRwdt, aten

(2) wegffem, fe

(3) T, e

4) fea, s

= o 2 form o1 Su=R weRn § @
T HSRIHTVT Sgd g1 8 STelT & 2

(1) uffem
(2) G
(3) wrgATEiET
(4) ATHeERm

Ry % ' ugsdt & oW
wATfEeh foreaur st T gt ST @ 2
(1) sh

(2) wm (=)

(3) Ugtw (wewifa)

(@) e fawqu

63.

64.

650

67.

Which of the following constituents of
steels is softest and least strong ?

(1) Austenite

(2) Pearlite

(3) Ferrite

(4) Cementite

the
steel

By which metal
resistance to

addition,
corrosion in
increases ?

(1) Chromium
(2) Molybdenum
(3) Tungsten
(4) Vanadium

Solder contains which metals ?

(1) Antimony, copper

(2) Aluminium, Tin

(3) Tin, lead

(4) Tin, zinc

Hardness of steel is greatly iﬁproved

with which of following heat treatment
process ?

(1) Annealing
(2) Tempering
(3) Cyaniding
(4) Normalising

Slow plastic deformation of metals

under a constant stress is known as
(1) Creep

(2) Fatigue

(3) Endurance

(4) Plastic deformation
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69.

70.

71.

72.

Pt arferfem, 1948 & qea frr H A
2 durfis FemoEsd gl T 2 2
(1) ey e T

Q) FHnm

(3) SAETHA

@) wfies fafncn stem

Apprentice Act (& FrferfemT), 1961
3 e T wig 1 e a1y et A
=Ttee ?

(1) 149
(3) 18a%

() 1594
(4) 1698

Factories Act (SR@HT SAfuf=m),

1948, fora od & @r g AT ?
(1) 23 foaws, 1948

(2) 1313, 1949

(3) 4313, 1949

@) 12 fqamr, 1948

e YaTE @ I dleew g IR fersreft
¥ IR TS IYSHOT ek TRA B S A 3
QT IHTE I 2

(1) 30T & STt |

(2) v I |

(3) RIS (S ST A1 R gl STe) |
(4) Fmr e Sl 3 S S |

R ) srferfem, 1948 # wifa fea 8
FRIHH T auT 48 e Wi Tware #

(1) =IHaH HRBH 6 3 |

) zai fosm s el g )

(3) sai frsm et affia TE R |
(4) T A iz T

=y
o .

N
w

69.

70.

71.

72.

Which is not a statutory welfare
facility under the Factories Act 1948 ?

(1) Creche

(2) Canteen

(3) Transport

(4) First Aid boxes

What is the minimum age limit for an

apprentice ~ as - per  Apprentice
Act 1961 ?

(1) 14 years (2) 15 years

(3) 18 years (4) 16 years

In which year did Factories Act, 1948,
came into force ?

(1) 23" September, 1948
(2) 1% April, 1949
(3) 4™ April, 1949
(4) 12% September, 1948

If electric wires and appliances are
overheated due to high voltage of
electric current, they can

(1) catch fire

(2) burn

(3) freeze

(4) both catch fire and burn

Under the Factories Act 1948, the
working hours of 8 hours per day and
48 per week

(1) are minimum working hours
(2) include rest interval period
(3) do not include rest interval period
(4) None of these
11
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MSDS %1 qut 1T w118 2

(1) RiEge  AHferME  SEERH

afifhray
2) WiEe A e Hfie
(3) WIS AR W A
(4) WX AR grsfam awd

Frafefea # @ B @1 SR A5

(plant layout) 3T Rrgra & 22

(1) =™ a1 1 frgra (principle of
minimum movement)

() "aft @ fagm@ (principle of
satisfaction)

(3) Fr=r-fofar &1 figia (principle
of interdependence)

(4) smerfitan @1 g (principle of
independence)

& a1 e qftamr 100 N 2, y fam
F T1Y 30° H7 G 2, 3BT x-fewn A
HeH BN

(1) 503N
3) 50N

(2) 502N
50
@ TEN

BY Fohigal U T aRl § g U &
o frfofaa affe St %1 swm
%ﬂTTﬂﬂTiIT%Q:

(1) Prfiee afhe st (MCB)

(2) e qidhe s (OCB)

(3) TR Tl 9 (ACB)

@) Tiess Hy afde s (MCCB)

|
|
|

i e it L S e e Tt bl et AL T
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74.

75.

76.

What is the full form of MSDS ?
(1) Material Specifications Dimension
Specifications

(2) Material Safety Data Sheet

(3) Mine Safety Dam Safety
(4) Motor Safety Driving Safety

Which of these is not a principle of
plant layout ?

(1) Principle of minimum movement
(2) Principle of satisfaction

(3) Principle of interdependence .
“) Principle of independence

What will be component of a force of

100 N in x direction if it makes 30°
with y — direction ?

(1) 503N (2) 502N
(3) 50N @) 3—“‘3‘1\1

For household wiring and small units,
the following circuit breakers should
be used for safety measures :

(1) Miniature circuit breaker (MCB)
(2) Oil circuit breaker (OCB)

(3) Air circuit breaker (ACB)

(4) Molded case circuit breaker

(MCCB)
o
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78.

79.

80.

Teh HET que RrEet TR 100 N8, 31
ol W femmgEr snaf@ B 1 & W
ifsramd gt
: l1001\1

A

A
(1) 50N, 100N
(2) 50N,50N

(3) 30N,70N
(4) 80N,20N

ﬁaﬁaﬁ&mﬁﬁw%aﬁa
SATEO! T A BT

=

120 N
A
< 5m >
(1) 4 Nm (2) 25 Nm
(3) 100 Nm 4 I3

T fivg W 40 N 3R o foem= 4
120° ShivT T ARG fpam 1 @1 2 |
Trifed s w1 7w g 2 feree
4m? |

(1) -81J
3) +81J

(2) -167
4) +1617

Topelt fivg ox o1 @ &1 F 6T 319 foram
@ & qHl 3R g femmd o T pIoT W
2 | 9 F T o o1 areft fewm i 31K
‘EIE%%: '

F sin o
M sin(o + B)

F cos o
@ sin(a. + B)
3 F sin B
@) sin(o + )

(4) 3§ B3 TE

i

i
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78.

79.

80.

A uniform beam of 100 N is simply
supported as shown in fig. What will
be reactions at ends ?
100 N

A l A
A B
(1) SON,100N (2) 50N,50N
(3) 30N,70N (4) 80N,20N

What will be moment of force with
respect to print ‘A’ as shown in fig. ?

120 N
A
< 5m >
(1) 4 Nm (2) 25Nm
(3) 100 Nm (4) Zero

What will be work done by a constant
force of 40 N acting on a body making
angle of 120° with displacement ?
Displacement is 4 m.

(1) =817 2) -167
(3) +81J 4) +1617

A force F acting on a body has two
direction o and P either side of its line
of action. The component of force F
along o side is :

F sin a
sin(a + B)

(1)
F cos a
sin(a + B)

Fsin 8

sin(o + B)

None of these

@

3)
4

11
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82.

83.
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85.

11

ST 1 T i &
(1) =t

(2) FuEH

() &=

(4). B AT ATAD

ot § ST TveT gT T G BT
IdeVd
M ITV
C [+ C
ILT.V
(2) IC Tc Vc
d *d 'd
I T,V
® TTV
: d ¢ 'd

Ide
M 17T
ccC

I Fearardt dteest t AR 50 8 2,
Tt JTeIdehTer BlaT B

(1) 28%vE
(3) 2frme

(2) 0.2 8w
(4) 0.02 9%vE

diee TRRR-gfqard™ (JR) &1 76w
g g

(1) ar=afass afe

(2) Wi SRy

(3) T wife

(4) wfcanen

&7 uTeR 3t fpetiame & sfte grawy g
H

(1) 189 arer = 9.81 feretiane

(2) 18 urer = 860 feretiare

(3) 189 9 = 0.4355 forctiame

(4) 18w = 0.7355 feheitane
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81.

82.

83.

84.

85.

A source of energy is :
(1) conductor

(2) insulator

(3) cell

(4) cell and conductor

Formula of watt-hours efficiency in
battery is

I; Ty Vy
M 1TV

¢ C Cc

IC TC VC

d

)

<

(=N

d

-
<

(<]

—

c —d

3)

[
=]
<

d "¢

—
H

@ 1

¢ C

d

—

If frequency of alternating voltage is
50 Hz, then its time period is :

(1) 2 second (2) 0.2 second
(3) 2 minute (4) 0.02 second

Volt-ampere-reactive (VAR) is the
unit of :

(1) True power

(2) Reactive power

(3) Apparent power

(4) Impedance

Relation between horse power and kw
is

(1) 1HP=9.81kw ,
(2) 1HP =860 kw

(3) 1HP =0.4355 kw

(4) 1HP=0.7355 kw



e v = Sl W aftha uerd
gidi 8

(1) <= yiiadrss

() vt i

(3) @ T T 3

@) Faft

At ) aar ardt St
(1) dieHan

(2) @t

(3) U

(4) CferR-ger

“ff <ff " aRR HT g A R
(1) ulch-fammsa wnEs
(2) ureht-femmset e
(3) T areie wiEe
4) 31 A RS oft 7

WIS AR B T ST 8

(1) % IR

(2) g ar

(3) W ARR AT A R

(4). T 3 B3 ot 7

R-L-C #ofism aftay & wfamen o1 g
Bl

() R+ X} +Xa

@) \/R2+(XL—XC)Z

(3) R+ (X -Xp)?

) \R2+ X

Do g S A

86.

87.

88.

89.

90.
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Active material of a lead acid battery
are : '

(1) lead peroxide

(2) spongy lead

(3) dilute sulphuric acid
(4) All of these

The capacity of a battery is measured
in:

(1) Watt-hour

(2) Watt

(3) Ampere

(4) Ampere-hour

Full name of “PVC” wire is
(1) Polyvinyl Chloride
(2) Polyvinyl Cable

(3) Pre Violet Chloride
(4) None of these

A fuse wire is inserted in :

(1) phase wire

(2) neutral wire

(3) both phase wire and neutral wire
(4) None of these

Formula of impedance in R-L-C series
circuit is :
(1) R2+X +X>
LT Ac
2) \JR*+ (X - Xp)?
(3) R?+ (X - X

@) \R2+X.
11
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92.

93.

94.

Symbol of Buzzer is

o T

3 — ]

® YT

@ X

Symbol of “NPN transistor with

collector connected to the envelope™ is

M —®
@ —@)

040

(4) None of these

Paper capacitor can be used for

(1) AC only

(2) DC only

(3) Both AC and DC
(4) None of these

Symbol of siren is

o QB
o (D

0O
e



95.

96.

97

98.

99.

100.

T 200 TATE Ted F Therm= &1 gfely
FT AF T HIREA, Ife 38 230 diee
ERI o | ST A 8 |

(1) 3.78 x 1073 3igH

(2) 264.5 3gH

(3) 1.05 x 106 3AigH

(4) 180 37&H

Ffe 120 diee sow & e &1 wfady
400 FeH B, SEH G qT Wi FIq
HifH |

(1) 3.33 ufeRR aur 399.6 9ie

(2) 3.33 TERRK aAT 36.03 €iC

(3) 0.3 TfRRR quT 36 Al

(4) 0.3 TRRRTAT 400 die

e Hifeat 1 arfor & S @t wiw #1
AT BT ] ?

(1) Tehet Arfi i

@) feurfi ==

(3) suifeae ==

4) Aot

3 ue & ot ) AW Q off ST e @
(1) wH

2) I @D

(3)

(4) IWe axfy

RIS IR S BT 8

(1) a« 9

(2) TT=Ad

(3) Ha-fea s Mg a
(4) TEsREE

gurie, fan aritar a2

(1) =g (2) IR
(3) 3YH (4) wnfes

9s.

7.

99.

22

3

100.

Find the value of filament resistance of
200 watt bulb when it is connected to
230 volt supply. |

(1) 3.78x 103 Q

(2) 264.5Q

(3) 1.05x10°Q

(4) 180 Q

The filament of resistance of a 120
volt bulb is 400 Q. Calculate the
current and power.

(1) 3.33 amp and 399.6 watt

(2) 3.33 amp and 36.03 watt

(3) 0.3 amp and 36 watt

(4) 0.3 amp and 400 watt

Which type of switch is used in
domestic staircase wiring ?

(M '
(2)

one way switch
two way switch
intermediate switch

(4) All of these

ELCB is also called name as :
(1) MCCB

(2) RCCB

(3) MCB

(4) All of these

The fuse wire is made up of
(1) Copper

(2) Tungsten

(3) Lead-tin alloy

(4) Nichrome

Capacitor having lowest capacitance is :
(1) Air (2) Paper
(3) Mica (4) Plastic

11
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T o @ o T e i gr R ¢
(1) ORER (2) XORER
(3) NOR g (4) NOT gR

gform demaett % emuaR W, few
(319e) o ufad= fopa < aewar &

(1) ORER

(2) ANDgGR

(3) OR gRaUT AND gR SHi

(4) 3T A IS oft 7

T% NOR gR ¥ a1fdheh =ieep a1l 8
() Y=A+B 2) Y=A+B
(3) Y=A+B (4) Y=A+B
1011.11, % XA &1 | TEeH W
AT |

(1) 1175,
3) 1115,

@) 1125,
4) 11.05,,

1100111.11, %t feedt &&1 § SgeH
T AT 8

(1) 147.3
(3) 147.5,

() 1474,
4) 1476,

2F8.5, & Tgamad s&nm # weon W
AT

(1) 1011111000.0101,

(2) 1011111001.1101,

(3) 1111111001.0011,

(4) '1111111000.0101,

= 2 forgent 3w uss yITedT g
H0 (3aR) F & H ST gehar @ ?
(1) AND gR

(2) ORER

(3) NOR &R

(4) 3T & HIS T
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101.

102,

103.

104.

105.

106.

107.

Which one of the following is a
universal gate ?
(1) OR gate

(3) NOR gate

(2) XOR gate
(4) NOT gate
As per Boolean algebra, inputs can be
changed in :

(1) OR gate

(2) AND gate

(3) Both OR and AND gate

(4) None of these

The logic expression for a NOR gate is :
(1) Y=A+B
3) Y=A+B

(2 Y=A+B
(4 Y=A+B

Convert 1011.11, into decimal number

is:

(1) 117554 2) 11.25,,

(3) 11.15,, (4) 11.05,
Convert 1100111.11, intc_J octal
number is :

(1) 147.3, (2) 1474,

(3) 147.5, (4) 147.64

Convert 2F8.5, ¢ into binary number is :
(1) 1011111000.0101,
(2) 1011111001.1101,
(3) 1111111001.0011,
(4) 1111111000.0101,

Which of the following can be used as
an Inverter ?

(1) AND gate
(2) OR gate

(3) NOR gate
(4) None of these
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(2) <ge SHfn R
(3) &mEe S
(4) T A oft T

24

109.

110.

111.

112.

113.

114.

LED emit light

(1) only red colour

(2) only yellow colour
(3) only green colour
(4) All of these

An LCD requires a power of
(1) 20 Watt/segment

(2) 20 Megawatt/segment
(3) 20 Microwatt/segment
(4) 20 Nanowatt/segment

Gas is used in plasma TV :

(1) Nitrogen-tri-fluoride (NF,)

(2) Nitrogen

(3) Nitrogen oxide

(4) None of these

How many data can store in DVD ?
(1) 1GBto2GB

(2) 2GBt04.5GB

(3) 47GBto 17 GB

(4) 17GBto20GB

Storage capacity of single layer
Blu-ray disc is :

(1) 25GB (2) 50GB

(3) 75GB (4) 100 GB

Semiconductor substances are

(1) germanium, selenium and silicon
(2) carbon, silicon and copper

(3) germanium, carbon and iron

(4) copper, carbon and silver

Full name of LED is :
(1) Light emitter diode
(2) Light emitting diode
(3) Light emitter doll
(4) None of these

11
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faa.9d x vd afes wfady y &1 ¢
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(1) x2 2) x2y
(3) ly 4) x/(x+y)
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(1) 2.5HeX
3) 3.51X

(2) 3 X
4) 47
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el 10T BRI
(1) 90° (2) 0°
(3) 30° (4) 45°
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Iav . Im
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115.

116.

117.

118.

119.

120.

A cell of emf x and internal resistance
y is connected to a resistance y. The
potential difference between the
terminals of the cell is

(1) x/2 Q) x2y
(3) 2xly 4) x/(x+y)

What should be the minimum depth of
pipe earthing ?
(1) 2.5 metre
(3) 3.5 metre

(2) 3 metre
(4) 4 metre

When a sinusoidal voltage is applied
across a R-L series circuit having
R, = X|, the phase angle will be

(1) 90° 2) 0°

(3) 30° (4) 45°

In a ac circuit, which of the following

expression is true for apparent power ?
(1) VIcos ¢sin¢

(2) VIcos ¢

(3) VI

(4) VIsin¢

To obtain n-type semiconductor the
added pure
semiconductor is

(1) Trivalent

(2) Tetravalent

(3) Pentavalent

(4) None of these

impurity to a

Definition of form factor is

rms

Irms
(1) T 2 I,

Iav m
3 @

Il'l'l‘l



121. el =TeTeh a1 Tire g 3
(1) TS & FHAT
) AT W (2) inversely proportiona_l to length
(3) ITPEA-FTE P F T ¢ (3) equal to cross-sectional area
i
(4) I -HIE A b THIIITA

| 121. Resistance of any conducting wire is
% (1) proportional to length

'(4) proportional to cross-sectional
area

122. € 9w R,, R, 3 R, I @IFRR | 122, Equivalent resistance of three

0 1 AR L T o yfee g resistances R, R, and R;, when
R, R, connected in parallel will be
(1) ; R.R
R, ) 13
@) R, +R,+R, R,
(3) R, R,R, | (2) R+R,+R,
i
R, R, R, G) RRR,
4) R, R, +R,R; +R; Ry ! @ RR,R,
| RR,+R,R, +RR,
123. ferga qﬂ'qsz[ T AR S8 A g 123. A continuous flow of electrons in an
' ﬁ RCLUSIGH 3 electric circuit is called :
(1) forga fva (1) Electric potential
) ﬁga g (2) Electric current
3) T om0 wen Rrem fve ; (3) Electric current and electric
i otential
(4) forega smam : P
(4) Electric charge
124. TcliaTe Hver & T Bl 8 | 124. 1 kWh s equal to

(1) 36 x 10° ae-Tehugd
(2) 36 x 10* 5cd

(3) 3.6 x 103 aE-AhvgH
(4) 3.6x1033g9q

(1) 36 x 10° watt — seconds
(2) 36 x 10*Joules

(3) 3.6 x 10° Watt — seconds -
(4) 3.6 x 103 Joules

conductor is

i
|
|
i
|
|
: E .

125. e =TeTeh o TaRTe ufeder <1 ok g : 125. Unit of specific resistance of a
2 |
i
l
i
|

(1) 3ia (1) ohm

(2) e/ (2) ohm/metre
(3) AF-HR (3) ohm-metre
(4) ﬁ@_i-ﬂzﬂ (4) ohm-metre?



126.

127.

128.

129.

130.

131.

11-

e & @ B |7 ST Wit e ] 2
(1) Sesfe

(2) W G

(3) € WA

@) o

fier 3§ B T Ted Sl TR %
STTIR PR h b ol TEI 70 8 2
(1) gwR-ATEhH--AT

(2) g E-ATRE-gw

(3) Torft-Tashl-AThe-gw

(@) forftmmesnl-gueAdha

Hrge i wi i didt §, ses wfkhe
T AT &Y F 9T fomar Srar o 2
(1) w&eit 9t

2) @l it

(3) el digt

(4) vgelt 3R gEdt fiet QA

e i 4 B T e e R 2

FfE g @ s (D6CL),, F SHwd

T 8 ?
(1) (59478),,
(3) (54978),,

2) (54977),,
4) (54987),,

T o @ 1 a1 v it T et § 2
(1) ENIAC

(2) IBM-1401

(3) CDC-1700

(4) UNIVAC-1108
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127.

128.

129.

130.

131.

3)

Which of the following is not an
application software ?

(1) Spreadsheet

(2) Payroll software
(3) Word processing
(4) Linux

Which of the following is the correct
order of computer types on the basis of
increasing computing speed ?

(1) Super-Micro-Mini-Mainframe

(2) Micro-Mini-Mainframe-Super
(3) Mini-Micro-Mainframe-Super
(4) Mini-Micro-Super-Mainframe

In which generation of computer,
Integrated Circuit (IC) was widely
used ?

(1) First generation

(2) Second generation

(3) Third generation

(4) both First generation and Second
generation

Which of the following is a data type ?
1)
@

integer
floating point
character

(4) All of these
Which of the following is decimal
equivalent of (D6C1),, 7

(1) (59478),, () (54977),,
(3) (54978),,  (4) (54987),,

Which one of the following is a first
generation computer ?

(1) ENIAC

(2) IBM-1401

(3) CDC-1700

(4) UNIVAC-1108



132.

- 133.

134,

135.

136.

o I & o a1 u Aifed B T8 B 2

(1) .mp4 (2) .mp3
(3) .avi 4) Aflv
o hifre

W™ A i B
P. wEm X AW
Q dwem Y. v fee
R. wHaR Z. ¥@™

=1 9 @ =9 91 HiaH A T HiaH BHT
g e 8 2

(1) P-Y,Q-Z,R-X

) P-X,Q-Y,R-Z

(3) P-Y,Q-X,R-Z

(4) P-Z, Q-X,R-Y

T NAEL 6t wite (i) A I 2

(1) AT

(2) ST

(3) higed Wi dhe

4) wmES

o & @ e o1 s faen /A
FTTH TR HIAR T8 & ?

(1) guasft. 9

(2) W& 9

(3) TH.EL.TA.3TE. 9

(4) dtsfte 9

i A% 1 GBHungea g ?
(1) 1000 MB (2) 1024 MB
(3) 2048 MB (4) 1024 KB

i
i

|
!
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132.

133.

134.

135.

136.

Which of the following is not a video
format ?

(1) .mp4 (2) .mp3
(3) .avi @ .flv .
Match the following :

Column A - Column B
P. Hardware X. Google chrome
Q. Software Y. Floppy Disk
R. Firmware Z. BIOS

Which of the following is the correct
matching pairs from column A to
column B ?

(1) P-Y, Q-Z,R-X
) P-X,Q-Y,R-Z
(3) P-Y,Q-X,R-Z
(4) P-Z, Q-X,R-Y

A processor’s speed is measured in
(1) Nanoseconds

(2) Megabytes

(3) Characters per second

(4) Megahertz

Which of the following is not a port in
a computer system / laptop ?

(1) USB port

(2) PD port

(3) HDMI port

(4) VGA port

Which of the following is equivalent
to1 GB?

(1) 1000 MB
(3) 2048 MB

(2) 1024 MB
(4) 1024KB

11



137.

138.

139.

140.

141.

142,

1

= 4 @ fres g e @ @i

AT (1) frg sma € 2

D) FEge (2 Fx

(3) W (4) ALU

e 3 @ form Ol o1 vl oy TR
HHE? _
(1) RAM

) & fewn

(3) FwAmd

4) vt fees

P d @ # @r gage feamm At
Shelel & 1 g 1T 2

(1) Joystick (2) OMR

(3) Mouse (4) Keyboard
= 1 @ B ot arEeTR vewe §
Tt I3 HT T BT 8 2

(1) .doc (2) xls

(3) -ppt 4) .pdf

e @ @ w9 @ w s
(operating) Rrza sram 2 2

(1) WTHhER 98

@) TEwH

(3) wET

4) INHa

= 4 @ form 90 1 ST et =@
TH WA B AT 2

(1) RAM

(2) ROM

(3) CD-ROM

@) TEfe=

i ' B R 48 Wbt .t e AT ebbrin. Spm s TP e
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137.

138.

139.

140.

141.

Which of the following perforii.
arithmetic and logical operation ?

(1) Control Unit (2) Register

(3) Memory 4) ALU

Which of the following memory hus
least memory access time ?

(1) RAM

(2) Hard Disk

(3) Cache Memory

(4) Floppy Disk

Which one of the following iy
devices is not used for gaming controls
(1) Joystick (2) OMR

(3) Mouse (4) Keyboard

Which of the following is the
extension of the file created i
Microsoft excel ?

(1) .doc
(3) -ppt

(2) xls

4) .pdf

Which of the following is name of w:
operating system ?

(1) Microsoft word

(2) Google chrome

(3) Linux

(4) Oracle

. Which of the following is a volatilc

memory ?
(1) RAM
(2) ROM
(3) CD-ROM
(4) Hard Disk

bo



143.

144.

145.

146.

et safea F et | AT IO &
U IPC &t & @ g/ % i
IR ?

(1) W66 (c)

(2) o 43

(3) HRI46

(4) ©W 67

1.T. stfifram, 2000 % gaR, = §
I T HE AT & ?

(1) P JOTTeAt

(2) FHIR AeTh

(3) =&

@) Fueft

I ARt arfafEm, 2000 (T

o g uii) fi= # @ ®F ¥ F

B Y Soft & wfemfya 2 2

(1) S T TUNE FEAT Bl ST
T |

(2) W feargy W guiia gEamst &
THET TEIH o I § Eer |

(3) gEIslt H @ YER el {6
3! U T B 9 |

4) Fwft )

frafafea & @+ @1 Frf Tk
Rreen gro Rear ST @ 2

(1) T3 Yae

(2) T v

(3) WA &g

(@) A=

z 143.

i
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144.

145.

146.

The crime of stealing information from
a person’s computer belong to which
Section of IPC ?

(1) Section 66 (c)
(2) Section 43
(3) Section 46
(4) Section 67

Which of the following is a computer
resource as per I.T. Act, 2000 ?

(1) Computer system
(2) Computer network
(3) Data

(4) All of these

As per IT Act, 2000 (of India), which
of the following is included under the

definition of hacking ? ,
(1) Intentional deletion of
information residing on a

computer system.

(2) changes the contents of a storage
" devices with an intent to cause
damage.

alters the contents such that the
data looses its utility.

(4) All of these

3)

Which of the following functions are
performed by operating system ?

(1) File management

(2) Memory management

(3) Processor management

(4) All of these

11



147.

148.

149.

150.

11

e 3 2 B ot Ay By e gt
F Retain W@ & R gma-vm9 «
Refresh foran Simn selt grar g ?

(1) Static RAM

(2) Dynamic RAM

(3) EEPROM

(4) Magnetic Disk

EBCDIC & areqd 8

(1) Teds foe #igs et s
EIES

2) EEEs WER wiks  eHHA
T Hig

3) aﬁm;%é@amﬁ%aé@uaw%ﬁr

(4) TR fae o edme sewN
EIES

sfemfes A gfie .

(i) arfemfes M e |

(ii) ST LR HR |

(iii) FNET @R |

(iv) $qe feamshm & @ wrfehea
FATE |

(1) R (i)

2) % Gi)

(3) && ()9 (i)

@) &k (i) = (ii)

FHI WgEe § BCD @ areqd 8
(1) Binary Coded Decimal

(2) Binary Coded Digit

(3) Bit Coded Digit

(4) Bit Coded Decimal

| 147. Which of the following memories

i
!
i
H

i
i
¢
i

|
i
|
i
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148.

149.

150.

must be refreshed periodically to retain
stored data ?

(1) Static RAM

(2) Dynamic RAM

(3) EEPROM

(4) Magnetic Disk

EBCDIC stands for
(1) Extended Bit Coded Decimal

Interchange Code
Extended Binary Coded Decimal
Interchange Code

(@)
(3) Extended Binary Case Decimal
Interchange Code
Extended Bit

Interchange Code

Case Decimal

“4)

Arithmetic logic unit

(i) performs arithmetic operations

(ii) stores data

(iii) Performs comparison

(iv) communicate with input devices
of the computer

Which of the above statements are

correct ?

(1) (i) only

(2) (ii) only

(3) (i) and (ii) only

(4) (i) and (iii) only

BCD in computers terminology stands
for

(1) Binary Coded Decimal

(2) Binary Coded Digit

(3) Bit Coded Digit

(4) Bit Coded Decimal
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